mEXHE As
LOADCELL TYPE

FEEER /S
fRFEER / U
L (R.0.)

FEMRE / Non-linearity
2712 / Hysteresis
BURLM / Repeatability

71U ="/ Creep

afe over load
1 imote overload
/ Rated Output

J25]
fttk / SPECIFICATIONS

PERFORMANCE
)/ Rated Capacity

71U —"7m4& / Creep recovery

®= it / ELECTRICAL

HEPIEE

/ Recommended exclitation

S AEPINEE

/ Moximum excitation

EFINS
/ /ero balance
A

/ Input terminal resistance

B A

/ Qutput terminal resistance

B AR

/ Insulation resistance

@ =E 1 / TEMPERATURE

= E A (E S

/ Compensated temperature range

STRIREEE

/ Safe temperature range

TS50 EE s

/ Temperature effect on zero balance

B DRERE

/ Temperature effect on output

@i / Clrcult

12V or

DO0K~2T-C3

: 200 kg,

250 kg,
500 kg,
1 ton,
2 ton

: 150 7R.C.
: 200 7R.C.
2 2:0.02 mV/VUEHE®=E / Compressive load)
2 mV/V(sI5REE / Tenstile

less

: 200V

: 20.02 mV/V

: 420240 @

© 3505

-10~40 C

: -20~80 T

: 0.014 7R.0./10 C

: 0.012 ZLOAD/MO T

@zt / THE OTHERS

load)

iR — LT A1)

NAME SEAL

- 2000 MQ or more (DC50V)

="
/ Cable
EERSE

/ Element materia
REELD

/ [P Protection

&7 FFdn

/ Fatigue life

‘ b4 5 ‘ 6
BA/INIT -
TYPE PA B C D E :Fgfd dﬁﬁéf[%ié@] BEEREI(HZ) | EE(Kkg)
[%e?ehe%ingcemeh Natural freguency(Hz) [Weight (approx. kg)
U251-200K-C3 | M12x1.75 60 32 76 15 0.10 2000 0.9
U251-250K-C3 | M12x1.75 60 32 76 15 0.10 2000 0.9
U251-500K-C3 | M12x1.75 60 32 76 14 0.15 2000 0.9
U251-17-C3 M12x1.75 60 32 76 13 0.30 2000 0.9
U251-21-C3 M24 x 2 80 36 108 25 0.30 2500 2.0
B C

€3: W10
NS
:3dAL

*-1SN

UTuA
er iXOUT senr

SOy

...k:avg* Y

UNVTIVH* NI 30WW  "0L7°°00 VIENIW

|

DG L

- TIRBETI) B
/]

S—ILETT omER

/ Stalnless steel

. [P68

6

0 Times on rated load.

A <{JEm/Accessories>
SEBAGEER/Callbration certificate 1

Soum YR & um T 17
/ ®4.7 becore shield bm connected with Y-terminal (1
C 2T LR

.25Y=-3.5)

7 / Tnput(+) :Red OIML RB0 CLASS C3 APPROVED
”n TTE WATERIA
- L I RN FHRKL R UNgﬂIﬂ 1R B DATE 2016.03.30
:F / Output (-):Blue Minebea éﬁ*iﬁdz#i @—E RESAE | o6 DESCRIPTION
t‘ s . ";f .ﬂEl F’Aee REMET . . =
:8 / Input(-) :White éemsxgt?‘wie/B\usznei%% 8 DIMENSION L| TOL ﬂﬂ\éﬁ,ﬁﬁ /UUTLINE
A [2016.3.30 | KN16-015 A.TAKAHASHI|F.IDE  [APPROVED[CHECKED | DRAWN | A& —ois ooy ] e FEALTREAT. 1AV MODEL NAME FESHEET
&%/ Output (+):Green — otz.as | NEW Hiramoto  |F.IDE « & %x\ S 1e<L=63 | +0.3 U251-200K~2T-C3 yd
\ me | 84 | ZESA 18 & N @\\Q@ V&Q 7 osd=al | 200 JR@aeE FINISH (% DRAWING NO. 5T REV.
L———>— L R:& / Shie :Yel low MARK | DATE | REASON /ECN NO-1 enineer weroven | < V&Q TOL 25;};&%00 182 KT53538-2 A

OLD-TOL:A3-2016



